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Proposal to Restore Sick Units to Health

5174. SHRI MADHAVRAO SCIENDIAl 
Will the Minister of INDUSTRY be pleased 
to sta te :

(a) whether Government's attention has 
been drawn to the appeal issued by the 
President of the Employees Federation 
of India urging Government to explore 
'urgently* alternatives other than takeover 
to restore sick units to health ;

(b) if so, the Government's reaction 
thereto ; and

(c) the details of sick mills presently 
under Government’s view and what steps 
are being contemplated to restore health to 
them 7

THE MINISTER OF STATE IN 
THE MINISTRY OF INDUSTRY (SHRI 
PATTABHI RA.MA RAO) : (a) Yes, Sir,

(b) According to the existing policy on 
sick industries, banks and financial institu­
tions examine, on the basis of diagnostic 
study, whether a sick unit can be revived 
through appropriate measures. They also 
attempt to explore other solutions like 
takeover of sick units by healthy companies. 
If these efforts are unlikely to revive the 
sick unit, the Government consider if the 
unit should be nationalised ar any other 
alternative can rivive the undertaking. When 
no solutions is considered feasible, the banks 
and financial institutions recover their dues 
from the undertakings as per the normal 
banking procedures.

(c) According to the data (provisional) 
collected by the Reserve Bank of India, 
there was 430 large (each with credit limit
of Rb, pne crore Md abov^} ;ick indystrial

units as at the end of December. 1982. In 
October, 1981, the Government announced 
revised policy on industrial sickness for the 
guidance of Central Ministries, State Govern­
ments and financial Institutions. The salient 
features of the guidelines were furnished in 
reply to the Lok Sabha Unstarred Question 
No. 4974 on 24th March, 1982.
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